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Quiz 5, Attempt 1
A system is comprised of 4 components, each of which is either working of failed.  Consider an experiment that consists of observing the status of each component, and let the outcome of the experiment be given by the vector (x1, x2, x3, x4), where xi is equal to 1 if component i is working and is equal to 0 if component i is failed.
[bookmark: _GoBack]How many outcomes are in the sample space?








The system will be working if 1 and 2 are both working or if 1, 3, and 4 are all working.  Let W be the event that the system is working.  How many events are in W?



Quiz 3, Attempt 2
[image: ]
image1.png
19. From a group of 8 women and 6 men, a committee
consisting of 3 men and 3 women is to be formed.
How many different committees are possible if
(a) 2 of the men refuse to serve together?

(b) 2 of the women refuse to serve together?
(¢) 1 manand 1 woman refuse to serve together?




